

(由) (5.158), (5.160) を確認しよう

$$E[t|x] = \int t p(t|x) dt = \sum_{k=1}^K \pi_k(x) M_k(x) \dots (5.158)$$

$$s^2(x) = E[|t - E[t|x]|^2 | x] \quad \text{※ 文は } L \text{ の } t \text{ について}$$

$$= \sum_{k=1}^K \pi_k(x) \left\{ L \sigma_k^2 + \left| M_k(x) - \sum_{l=1}^K \pi_l(x) M_l(x) \right|^2 \right\} \dots (5.160)$$

$$p(t|x) = \sum_{k=1}^K \pi_k(x) N(t | M_k(x), \sigma_k^2(x) I) \dots (5.148)$$

$$E[t|x] = \int t p(t|x) dt = \int t \sum_{k=1}^K \pi_k(x) N(t | M_k(x), \sigma_k^2(x) I) dt$$

$$= \sum \pi_k \int t N(t | M_k, \sigma_k^2 I) dt = \sum \pi_k M_k \dots (5.158)$$

を得る

$$\int t N(t | M_k, \sigma_k^2 I) dt = M_k$$

↑  
← 正規分布の平均を表わすから

$$s^2(x) = E[|t - E[t|x]|^2 | x]$$

$$= \int |t - E[t|x]|^2 p(t|x) dt$$

$$= \int |t - \sum \pi_l M_l|^2 \sum_k \pi_k N(t | M_k, \sigma_k^2) dt$$

$$= \sum \pi_k \int \left\{ (t - \sum \pi_l M_l)^2 + \dots \right\} N(t | M_k, \sigma_k^2) dt$$

$$= \sum \pi_k \left[ \int (t^2 + \dots) N_k dt + \int -2(t - \sum \pi_l M_l) N_k dt + \int (\sum \pi_l M_l)^2 N_k dt \right]$$

$$= \sum \pi_k \left\{ \int |t|^2 N_k dt - 2 \int t^T \sum \pi_l M_l N_k dt + \underbrace{\left( \sum \pi_l M_l \right)^2}_{1} \int N_k dt \right\} \dots \textcircled{1}$$

∴ ∴

$$\int t_i^2 N_k dt = \int t_i^2 \frac{1}{(2\pi)^{\frac{D}{2}}} \frac{1}{\sigma_k} \exp\left[-\frac{1}{2\sigma_k^2} \{(t_i - \mu_{k1})^2 + \dots\}\right] dt$$

$$= \int t_i^2 N(t_i | \mu_{k1}, \sigma_k^2) dt_i \times \int N(t_2 | \mu_{k2}, \sigma_k^2) dt_2 \times \dots$$

∴ ∴

$$\int t_i^2 N(t_i | \mu_{k1}, \sigma_k^2) dt_i = \int t_i^2 \frac{1}{\sqrt{2\pi}} \frac{1}{\sigma_k} \exp\left\{-\frac{1}{2\sigma_k^2} (t_i - \mu_{k1})^2\right\} dt_i$$

$$= \int (u_i + \mu_{k1})^2 \frac{1}{\sqrt{2\pi}} \frac{1}{\sigma_k} \exp\left(-\frac{1}{2\sigma_k^2} u_i^2\right) du_i \quad \leftarrow t_i - \mu_{k1} = u_i \text{ とおく}$$

$$= \int u_i^2 N(u_i | 0, \sigma_k^2) du_i + 2\mu_{k1} \int u_i N(u_i | 0, \sigma_k^2) du_i + \mu_{k1}^2 \int N(u_i | 0, \sigma_k^2) du_i$$

$$= \sigma_k^2 + \mu_{k1}^2$$

↑ 分散は σ<sup>2</sup> だけ  
↑ 平均は μ<sub>k1</sub> だけ

$$\int u_i^2 \frac{1}{\sqrt{2\pi}} \frac{1}{\sigma_k} \exp\left(-\frac{1}{2\sigma_k^2} u_i^2\right) du_i$$

$$= \frac{1}{\sqrt{2\pi}} \frac{1}{\sigma_k} \int u_i^2 \exp\left(-\frac{1}{2\sigma_k^2} u_i^2\right) du_i \quad \leftarrow \frac{u_i}{\sqrt{2}\sigma_k} = v_i \text{ とおく}$$

$$= \frac{1}{\sqrt{2\pi}} \frac{1}{\sigma_k} \int 2\sigma_k^2 v_i^2 \exp(-v_i^2) \sqrt{2}\sigma_k dv_i$$

$$= \frac{2}{\sqrt{\pi}} \sigma_k^2 \int v_i^2 \exp(-v_i^2) dv_i = \sigma_k^2$$

$$\leftarrow \int_{-\infty}^{\infty} x^2 \exp(-x^2) dx = \frac{\sqrt{\pi}}{2}$$

∴ ∴ ∴

$$\int |t| N_k dt = \int (t_i^2 + t_2^2 + \dots) N_k dt = D\sigma_k^2 + \mu_{k1}^2 + \mu_{k2}^2 + \dots$$

$$= D\sigma_k^2 + |\mu_k|^2$$

↑ 分散は σ<sup>2</sup> だけ  
↑ 平均は μ<sub>k</sub> だけ

$$\sum \pi_k \mu_k^T (\sum \pi_k \mu_k) = (\sum \pi_k \mu_k)^T \mu_k$$

$$\int t N_k dt = \mu_k$$

↑ ∴

$$\int t^T \sum \pi_k \mu_k N_k dt = (\sum \pi_k \mu_k)^T \int t N_k dt = (\sum \pi_k \mu_k)^T \mu_k$$

∴ ∴ ∴

$$S^2(x) = \sum \pi_k \{ D\sigma_k^2 + |\mu_k|^2 - 2(\sum \pi_k \mu_k)^T \mu_k + |\sum \pi_k \mu_k|^2 \}$$

$$= \sum \pi_k \{ D\sigma_k^2 + |\mu_k - \sum \pi_k \mu_k|^2 \} \dots (5.16)$$

↑ 得る